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Are they testifying on the money in the note  —>770Rp Vwaw 71N

OVERVIEW

The X3 queried whether we are 10m*? N1 vWn 79Y7 or not in a case where the o7y
signed on a W in which one of the parties was referred to as a 372. The question is
whether the 27V when they sign on the 70w are only testifying that the loan took
place and they pay no attention to the details whether the m>» or the Mm% is a 37> or
a "X (and therefore Ponh nvwn 1PHyn PX) or do we say that the 0>7v also verify
these details (and therefore °0m1°% mvwn 1°%¥n). Our MdOIN discusses the view of
7000 NP UWIAW 710N,

nooIN asks:
— Y1N0NP NN NDIIN IND INY 9IRN ON)

And if you will say; and if the 27V do not testify on all the details of the quw, but

rather they are only testifying qwaw 710K -
— XY IR NN 109 ON SPT RYT 23 IY N MINN DY )9 ON

If that is indeed so, the 237y sign even if they do not know if he is a 3775 or not -
— HNN P2 19970 PYNRY 12 GO 2 (vasp 97 x9ma xa2) VIV DI2 PINT XD 19 ON)

If indeed this is so; that which the mwn teaches in vwwd wx P79, if there are two

1R 32 7 who live in one city we must write a third generation (their grandfathers’

name) in order to distinguish between them -
— 1191209 *pYnHun 1H ox

If they had identical names even up to the third generation, they should write

'3712" if only one of them was a 3772, and that will distinguish between them. This concludes the

7Iwn. MDOIN continues with his question -
— N5 NN ON 12 09991 PPRY 29 JY N 1PRMN DITYY 1193 D911 NN

But what would it help writing "172', since the 2°7¥ sign regardless whether they

know if he is a 772 or not -
— %173 195305 P9I XK 119 19230 BYWA 2NN IOV 2N DAY 919 XN 391

So one can be sly and write a v in the name of his 2217 the 37> and the M

' The 7ww states that the 12\m» is a 772. The 0*7 however, when they sign they do not verify whether indeed he is
a 179 or not; they merely testify that the Mm% borrowed from the 7172.

2 They were both called 2py> 12 1vaw 12 AOY.

3 The w"wA deletes the word X (it does not appear either in the w"X277 '0N or YIRW '0I1N).

* Let us assume that one 7Y 72 AT is a 172 and the other is not. The one who is not a 172 will borrow money from
someone and see to write in the quw that the M is 37757 NWHW 12 7O (since the 0>7¥ do not pay attention whether he is
a 112 or not). When the time comes to collect this note, the 7%» will be able to collect only from 3737 Pynw 2 Ao
who is really not the 72! See ‘Thinking it over’.
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will take away the money from his friend the 373!

N1B0IN answers:
— 91101 NP RN RIIIN INT PYAY 12 9D 53W 171MNT XIXNT 9019 YU

And one can say that in a place where it is established that there are two 32 7o
Mwnw, the 0°7v certainly testify on all the details -
— NY1 )19 12 ONX Y1Y 19298 ) IN 2

Because in that situation they are required to know if he is a 3772 or not, to assure
that it is the correct M7 -

HPINN RYT R D NIYANI NN PONIY MIVYN PUYN INT 0N
And in that situation we are certainly oM nymwwn 75w, since the D>7v are
required to verify in this case that he is a 375; however here we are asking what is
the ruling in a situation where it was not established that there are two nwnw 12 no.

SUMMARY
Even if we assume 1°7°¥7 17 70w2w 712K, nevertheless if vnw 12 701 21w p1mM then
we say 7701 XN R21OKR and we are 1012 MALwn a9V,

THINKING IT OVER

moon asked that if 17°v 0n VWAW 71K so the MY can write 17307 (even though he
1s not a 312), for the 27y will not notice and the 775 will lose money 7°72 xow.
However, granted that the 0>7v will not notice, but the m>» will notice that he
wrote 7727 (when indeed he is not a 373) and will protest because he knows that if
he will go to the 173, the 175 will (rightfully) deny the loan and the m%n will have
difficulties collecting it. How can there be a inwi1?°

3 See footnote # 4.
% See Y M prY> 0TO.
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